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htiw	rewsna)	b	(noitpo;	rewsna	tcerroc	sruoh	61	Sruoh	41	Sruoh	21	Sruoh	01	ni	dellif	eb	nor	knat	eht,	emit	emas	eht	ta	denepo	era	sepip	eht	htob	fi.	llif	nac	epip	A	)1	edutitpA	snretsiC	dna	sepiP	)11	stpecnoC	edutitpA	egatnecreP	8	tseT	edutitpA	egatnecreP	7	tseT	edutitpA	egatnecreP	6	tseT	edutitpA	egatnecreP	5	tseT	edutitpA	egatnecreP	4	tseT
edutitpA	egatnecreP	3	tseT	edutitpA	egatnecreP	2	tseT	edutitpA	egatnecreP	1	tseT	edutitpA	egatnecreP	211	=	082	*=	082	fo	%	04	â	€	â	¢	082	=	n	DNA	04	=	x	=	'n'	rebmun	nevig	a	fo	%	x:	notanalpxe)	a	(noitpo;	rewsna	tcerroc	eht	.rehto	hcae	ot	lanoTroporp	ylesrevni	era	syad	dna	nem,	won	syad:	nem.	04	-	0001	Snur	b	Snaem	Ti,	M	0001	=	MK1	Snur
and:	Noitanalpxe	B:	Rewsna?	i	ecnereffid	eht	si	tahW	)1	edutitpA	srebmuN	)2	stpecnoC	edutitpA	egarevA	8	tseT	edutitpA	egarevA	7	tseT	edutitpA	egarevA	6	tseT	edutitpA	egarevA	5	tseT	edutitpA	egarevA	4	tseT	edutitpA	egarevA	3	tseT	edutitpA	egarevA	2	tseT	edutitpA	egarevA	1	tseT	edutitpA	egarevA	63	=3	Â	—Â	€	¢	21	=	â	-	â	€	Â	51	-	â	€	¢	21	=	â
-	â	€)	5+4+3+2+1	(â	-	â	€	¢	21	=	Egareva:	noitanalpxe	A	si	rewsna	tcerroc	eht.)	C	(si	noitpo	tcerroc	eht	.retaw	%01	sniatnoc	retaw	dna	klim	fo	erutxim	retil	06	a)	1	edutitpa	erutxim	dna	noitagilla)	71	stpecnoc	edutitpa	krow	dna	emit	9	tse	EMIT	7	TSET	EDUTITPA	KROW	DNA	EMIT	6	TSET	EDUTITPA	KROW	DNA	EMIT	5	TSET	EDUTITPA	KROW	DNA
EMIT	4	TSET	EDUTITPA	KROW	DNA	EMIT	3	TSET	EDUTITPA	KROW	DNA	EMIT	2	TSET	EDUTITPA	KROW	DNA	EMIT	1	If	yad	eno	ni	ddetelpmoc	si	ksat	eht	fo	=	krow	yad	eno	s')	b+a	(â	€	â	¢	=	krow	yad	eno	s'b,	ylralimis	=	krow	yad	eno	s'a,	if	dna	oitar	)12	stpecnoc	aera	8	tset	edutitpa	aera	7	tset	edutitpa	aera	6	tset	edutitpa	aera	5	tset	edutitpa
aera	4	tset	edutitpa	aera	3	tset	edutitpa	aera	2	tset	edutitpa	aera	1	tset	edutitpa	aera	sretem	erauqs	52=	♪	♪mhtiragoL	edutitpA	1	repaP	tseT	mhtiragoL	edutitpA	3/61-	=	3	/)2	*	8-(	=	x	,idniuQ	8-	=	2/x3	,otnatreP	8-2	=	2/x32	,rO	82/1	=	x]2/12	*	12[	,rO	]82/1[	=	x	)2​​â2(	,rO	x	)2​​â2(	=	]652/1[	emoc	olrevircs	omaissop	,idniuQ	y	=	xa	a	a	elimis	¨Ã	x	=	y	agol
ehc	omaippaS	x	=	]652/1[	2​​â2gol	eraicsaL	:C	enoizageipS	:atsopsiR	?alecsim	allen	%02	auqca	eraf	rep	atnuigga	eresse	eved	auqca	otnauQ	id	%	04	=	egatnecreP	)01	stpecnoC	edutitpA	aznatsid	e	azzetlA	4	tseT	edutitpA	aznatsid	e	azzetlA	3	tseT	aznatsid	e	azzetlA	2	edutitpa	id	tseT	aznatsid	e	azzetlA	1	edutitpa	id	tseT	aznatsid	e	azzetlA	DA	+	CA	=	DC
,ivan	el	art	aznatsiD	m	001	=	CA	)m001(	BA	=	CA	°Â06	=	BDA	​â	,°Â54	=	BCA	​â	,irtem	001	=	BA	....73	,91	,9	,5	,2	eires	al	eratelpmoC	)1	edutitpA	seireS	dna	tuO	naM	ddO	)33	ittecnoC	iremun	ius	imelborP	4	repaP	tseT	iremun	ius	enidutitta	id	imelborP	3	repaP	tseT	iremun	ius	enidutitta	id	imelborP	2	repaP	tseT	iremun	ius	enidutitta	id	imelborP	1
repaP	tseT	iremun	ius	imelborP	edutitpA	:adnamod	al	odnoces	,idniuQ	.00056	.sR	odnetsevni	rentrap	emoc	otinu	¨Ã	is	nahoM	isem	6	opoD	.inroig	8	ni	otipmoc	li	atelpmoc	anU	rekroW	:enoizageipS	)B(	¨Ã	atterroc	atsopsir	aL	.itunim	5,1	?elapicnirp	otropmi'l	noc	eragap	eved	hseruS	esseretni	otnauq	inna	orttauq	id	enif	alla	,I.S	%6	esseretni	id	ossat	a
hsehaM	ad	00063	.sR	otitserp	ni	ednerp	hseruS	eS	)1	)41	stpecnoC	edutitpA	aznatsid	e	opmet		Ãticolev	5	tset	edutitpA	aznatsid	e	opmet		Ãticolev	4	tset	edutitpA	aznatsid	e	opmet		Ãticolev	3	tset	edutitpA	aznatsid	e	opmet		Ãticolev	2	tseT	edutitpA	aznatsid	e	opmet		Ãticolev	1	tseT	edutitpA	aznatsid	e		Ãticolev	id	opmeT	s/mk	5.7
=4​​â03¶​â21​​â09=5​​â81*21​​â52=h/mk	ni		Ãticolev	:h/mk	ni	atsopsir	anu	id	ongosib	omaibbA	s/m21​​â52=042​​â005	=		ÃticoleV	idnoces	042	=	06	x	4	¶​â	itunim	4	=	opmeT	irtem	005	=	aznatsiD	:enoizageips	noc	atsopsiR	)B(	¨Ã	atterroc	atsopsir	aL	s/mk	5,6	s/mk	5,9	s/mk	5,7	s/mk	5,8	?osroc	len	A	ad	oserp	opmet	li	¨Ã	lauQ	.5	:2	:3	id	otroppar	len	¨Ã	C	:B	:A	)1
otnuppA	Document	2	Aptitude	Logarithm	Test	Paper	3	Aptitude	Logarithm	Test	Paper	4	Logarithm	Concepts	31)	Square	Roots	and	Cube	Roots	Aptitude	1)	=	80	Answer:	C	Explanation:	=	80	?	?=142=	14×14	=	196	Aptitude	Square	Roots	and	Cube	Roots	Test	Paper	1	Aptitude	Square	Roots	1)	If	30%	of	a	given	number	is	12.6,	what	is	the	number?	8
liters	7.5	liters	7	liters	6,5	liters	The	correct	answer	is	(B)	Answer	with	explanation:	The	mixture	has	10%	of	water,	so	the	milk	would	be	90%	of	60	liters.	The	tank	will	be	filled	completely	in	12	hours.	Answer:	D	Explanation:	Aptitude	Simplification	Test	Paper	1	Aptitude	Simplification	Test	Paper	2	Aptitude	Simplification	Test	Paper	3	Simplification
concept	1)	What	is	the	market	price	of	a	9%	share	when	a	person	gets	180	by	investing	Rs.	4000?	Now,	simple	interest	on	Rs.	2500	for	unexplored	time	=	Rs.	200	The	simple	interest	rate	The	Banker	discount	is	the	simple	interest	on	the	nominal	value	of	the	invoice	for	the	unexplored	time,	i.e.,	simple	interest	on	Rs.	2700	for	the	unexplored	time	or
the	remaining	time.	Inversely	proportional	means	5:	15	=	28:	x	Or,	x	=	(28*15)/	5	Or,	x	=	84	days	So,	5	men	can	collect	a	field	in	84	days.	Answer:	B	Explanation:	The	sample	space	when	a	nut	is	rolled,	S	=	(1,	2,	3,	4,	5	and	6)	So,	n	(S)	=	6	And	it's	the	event	to	get	an	even	number.	Aptitude	Test	1	watches	Aptitude	Test	2	watches	Aptitude	Concepts	9)
Height	and	distance	1)	Two	ships	sail	at	sea	on	the	two	sides	of	a	lighthouse.	Thus,	we	will	find	the	distance	traveled	from	the	train	in	7	seconds	applying	the	following	formula:	Distance=	Speed	x	Time	speed	is	given	in	Km/h	so	we	will	convert	it	to	m/s	as	the	answers	are	given	in	meters.	Quantitative	Aptitude	Questions	and	answers	contains	concepts
andDocuments	on	many	topics	such	as	media,	numbers,	composite	interests,	partnership,	problem	on	centuries,	calendar,	boats	and	flows,	clock,	height	and	distance,	percentage,	tubes	and	cisterns,	profits	and	losses,	speed,	time	and	distance,	simple	interest,	Problem	on	trains,	time	and	work,	etc.	2500	=	Rs.	204	Interest	composed	Attitudine	Test	1
Interest	composed	Attitudine	2	Aptitude	concepts	composed	interests	4)	Partnership	attitude	1)	Sohan	started	an	activity	with	a	capital	of	Rs.	80000.	54	=	6	liters	Let	water	to	be	added	=	x	liters	Now,	Â	6+xÂ	*	100	=	20	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	Â	60+xÂ	Â	Â	Â	Â	Â	Â	Â	Â	Â	6+	x	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â
â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	â	If	the	price	of	the	item	is	2000,	find	the	profit	percentage.	Speed	=	90	*	=
25	m/s	Time	=	7	seconds	distance	=	25	*	7	=	175	meters	Problem	on	trains	Aptitude	test	1	on	trains	Aptitude	test	2	on	trains	Aptitude	test	3	Problem	on	trains	Aptitude	test	4	Problem	on	trains	Aptitude	test	5	Problem	on	the	concepts	of	aptitude	of	trains	16)	time	and	attitude	to	work	1)	The	worker	A	completes	an	activity	in	8	days	and	the	same	task
Attitude	Odd	Man	Out	and	Series	Test	Paper	1	Attitude	Odd	Man	Out	and	Series	Test	Paper	2	Attitude	Odd	Man	Out	and	Series	Test	Paper	3	Odd	Man	Out	and	Series	34)	Expressions	algebric	Aptitude	1)	If	x2+=	34,	x+	is	equal	to	Answer:	D	Explanation:	Adding	2	to	L.H.s	and	R.H.s	of	the	equation:	x2+2+=	34+2	[âˆμ	(a+b)	2	=	a2+b2+2ab]	(x+)	2	=
36	(x+)	=	+6,	-6	aptitude	algebraic	expressions	Paper	1	Algebraic	expressions	Paper	2	Algebical	attitudes	Expressions	Test	Paper	3	Actual	attitudes	Algebric	Expressions	Paper	4	Algebraic	Expressions	Find	the	train	length.	alorap	alorap	al	odnazzinagro	etamrof	eresse	onossop	elorap	081	,idniuq	081	=	,o	=	inoizatumrep	id	otseihcir	oremun	li	If	If	the
speed	of	the	boat	against	the	stream	is	3	km/hr,	what	is	the	speed	of	the	stream?	days.	Table	of	Contents	1)	Average	Aptitude	1)	What	is	the	average	of	first	five	multiples	of	12?	What	is	the	banker's	discount?	837.174	-	618.430	=	218.744	Aptitude	Decimal	Fraction	Test	Paper	1	Aptitude	Decimal	Fraction	Test	Paper	2	Aptitude	Decimal	Fraction	Test
Paper	3	Aptitude	Decimal	Fraction	Test	Paper	4	Aptitude	Decimal	Fraction	Test	Paper	5	Decimal	Fraction	Concepts	26)	Simplification	Aptitude	1)	The	value	of	=?	Permutation	and	Combination	Test	Paper	1	Permutation	and	Combination	Test	Paper	2	Permutation	and	Combination	Concepts	50	days	60	days	84	days	9.333	days	Answer:	C	Explanation:
Let	5	men	can	reap	a	field	in	x	days	So,	put	the	same	quantities	on	the	same	side.	As	per	the	question,	the	first	day	of	the	year	1996	was	Monday,	so	the	first	day	of	the	year	1997	must	be	two	days	after	Monday.	The	Correct	answer	is	(B)	Explanation:	The	hands	of	a	clock	coincide	only	once	between	11	O'	clock	and	1	O'	clock,	so	in	every	12	hours,	the
hands	of	a	clock	will	coincide	for	11	times.	252	125	503	None	of	these	Answer:	D	Explanation:	C's	share	=	[C's	ratio/	sum	of	ratios]	*	total	amount	C's	share	=	(5/10)	*	1260	C's	share	=	630	Ratio	and	Proportion	Test	1	Ratio	and	Proportion	Test	2	Ratio	and	Proportion	Test	3	Ratio	and	Proportion	Test	4	Ratio	and	Proportion	Concepts	22)	Races	and
Games	Aptitude	1)	In	a	kilometer	race,	A	beats	B	by	40	meters	or	by	5	seconds.	So,	an	income	of	Rs.	9	is	obtained	from	an	investment	of	Rs.	=	(4000/180)	*	9	=	200	So,	the	market	price	of	the	share	=	Rs.	200	Aptitude	Stocks	and	Shares	Test	Paper	1	Aptitude	Stocks	and	Shares	Test	Paper	2	Aptitude	Stocks	and	Shares	Test	Paper	3	Aptitude	Stocks
and	Shares	Test	Paper	4	Stocks	and	Shares	Concepts	28)	Chain	Rule	Aptitude	1)	If	15	men	can	reap	the	crops	of	a	field	in	28	days,	in	how	many	days	will	5	men	reap	it?	If	the	lighthouse	is	100m	high,	find	the	distance	enretsic	e	ibut	2	tseT	enretsic	e	ibut	1	enidutitta	id	tseT	enretsic	e	ipiP	ero	21	=	6​​â	¬​â	21	21*6	ero	21	=	y	e	ero	6	=	x	:2	enoizuloS	?-
43.818	+	438.81	:enoizageipS	B	:atsopsiR	448.712	447.712	447.812	446.712	34.816	=	?0621	sR	ad	onnaricsu	idlos	itnauQ	.05	=	101	*	5	e	000.05	=	501	*	5	,oremun	len	ivitisop	irolav	eud	ah	5	arfic	al	:enoizageips	noc	atsopsiR	)b(	¨Ã	atterroc	atsopsir	aL	.aro/mk	5	id	¨Ã	assif	auqca	ni	acrab	anu	id		Ãticolev	aL	)1	SRUORF	​ÃTIVITTA	E	EHCRAB	)7
oiradnelac	led	enidutitta	id	ittecnoC	2	oiradnelac	led	enidutitta	id	tseT	1	oiradnelac	led	enidutitta	id	tseT	.idnoces	7	ni	olap	nu	asrevartta	aro/mk	08	id		Ãticolev	a	evoum	is	ehc	onert	nU	)1	inert	ied	inidutittA	us	amelborP	)51	ecilpmes	esseretni	id	enidutitta	id	ittecnoC	2	tseT	ecilpmes	esseretni	1	enidutitta	id	tseT	esseretnI		ÃteirporP	inna	6	=	opmet	o
inna	id	oremuN	6	=	esseretni	id	ossat	00063	.sR	=	elapicnirp	otropmi	:enoizageips	noc	atsopsir	)b(	¨Ã	atterroc	atsopsir	aL	00541	.sR	00531	.sR	06921	.sR	06521	.sR	.0004	.sR	id	otnemitsevni	nu	ad	otunetto	¨Ã	081	.sR	id	otidder	nu	,adnamod	al	odnoceS	9	=	enoiza	rep	odnedivid	001	.sR	=	enoisividnoc	alled	elanimon	erolav	li	ehc	aicsaL	:enoizageipS	B
:atsopsiR	.	Ãtivitta'lled	enoizapicetrap	al		Ãretelpmoc	onroig	nu	ni	idniuQ	.57	=	1	+	2	x	73	:etnacnam	oremun	li	,idniuQ	?erdam	alled	elautta		Ãte'l	¨Ã	lauq	,oilgif	led		Ãte'l	etlov	01	aveva	erdam	alled		Ãte'l	,af	inna	02	eS	?4072	=	.I.C	+	0052	=	001	2	4	+	1	0052	=	001	T	R	+	1	P	=	)A(	elapicnirp	otropmI	.itunim	2	.otniuq	led	oippod	led	¹Ãip	onu	¨Ã	oremun
otses	li	,otnatreP	73	=	1	-	2	x	91	.etlov	eud	itutepir	onognev	u	e	R	iuc	ni	elorap	6	ad	atsopmoc	¨Ã	icov	alorap	aL	:enoizageips	al	noc	atsopsiR	D	:atsopsiR	.°Â	54	e	°Â	03	id	etnemavittepsir	onos	ivan	ellad	itavresso	oraf	led	eroirepus	etrap	alled	enoizavele	id	ilogna	ilG	.ivan	elled	inoizisop	el	onais	d	e	c	e	oraf	led	azzetla'l	ais	BA	ehc	aicsal	:enoizageips	noc
atsopsir	)b(	¨Ã	enoizerroc	aL	m	08,161	m	08	.ivan	eud	el	of	attitude	12)	Attitude	profits	and	losses	1)	A	shopkeeper	sold	sold	an	article	for	RS.	2500.	2500.	n	(E)	=	3	So,	the	probability	of	getting	an	even	number	P	(E)	=	​Ã	Â	​Ã	Â	​Ã	Â	​Ã	Â	​Ã	Â	​Ã	Â	​Ã	Â	​Ã	Â	​Ã	Â	​Ã	Â	​Ã	Â	​Ã	Â	​Ã	Â	​Ã	Â	​Ã	Â	​Ã	Â	​Ã	Â	​Ã	Â	=	=	3/6	=	1/2	Probability	Test	1	Probability	Test	2
Probability	Test	3	Probability	Concepts	24)	Volume	and	Surface	Area	Aptitude	1)	The	surface	area	of	a	cube	is	600	cm2.	=	618.43	Or,	18.834	+	818.340	-	618.43	=?	Answer	with	explanation:	Length	of	the	train	is	equal	to	the	distance	covered	by	train	to	cross	the	pole.	¢Ã​Â´Â	In	a	day	or	24	hours,	the	hands	of	a	clock	will	coincide	for	22	(11+11)	times.
At	what	speed	he	is	running?	Answer:	B	Explanation:	Let	the	required	number	be	x.	1	minute	57	seconds.	R	=	8%	Banker's	discount	Aptitude	True	Discount	and	Banker's	Discount	Test	Paper	1	Aptitude	True	Discount	and	Banker's	Discount	Test	Paper	2	Aptitude	True	Discount	and	Banker's	Discount	Test	Paper	3	True	Discount	and	Banker's	Discount
Concepts	30)	Logarithm	Aptitude	1)	Find	the	logarithm	of	1/256	to	the	base	2¢Ã​Â​Â2.	1.5	km/hr	2	km/hr	2.5	km/hr	1	km/hr	The	correct	answer	is	B	Answer	with	explanation:	Let	the	speed	of	stream	=	X	km/hr	Speed	of	boat	=	5	km/hr	Speed	upstream	=	3km/hr	Apply	formula:	Speed	upstream	=	speed	of	boat	-	speed	of	stream	¢Ã​Â´Â	3	=	5	-	X	X	=	5	-	3
=	2	km/hr	Boats	and	Streams	Aptitude	Test	1	Boats	and	Streams	Aptitude	Test	2	Boats	and	Streams	Aptitude	Concepts	8)	Clocks	Aptitude	1)	How	many	times	the	hands	of	a	clock	coincide	in	a	day?	Rs.	180	Rs.	204	Rs.	210	Rs.	220	The	Correct	answer	is	(B)	Explanation:	Principal	(P)	=	Rs.	2500	Rate	of	interest(r)	=	4%	Time	(t)	=	2	years	Compound
Interest	=	Amount	?	The	Aptitude	Questions	and	Answers	are	very	helpful	for	competitive	exams	like	SSC,	CAT	(Common	Aptitude	Test),	MAT,	GMAT,	GRE,	UGC,	UPSC	Exams,	ICET,	Bank	PO,	Defence	Exams,	Bank	Exams,	Railway	Exams	and	placements	like	TCS,	Wipro,	Capgemini,	Accenture,	Infosys,	IBM,	Cognizant,	Adobe,	Cisco,	Amazon,
Samsung,	Google,	Yahoo,	Facebook,	Ola,	Paypal,	Microsoft,	Oracle,	etc.	Answer:	B	anetac	alled	aloger	alled	tseT	.irapsid	inroig	2	noc	otlas	id	onna	nu	¨Ã	idniuq	,4	rep	elibisivid	¨Ã	6991	onna'l	:enoizageipS	)b(	¨Ã	atterroc	enoizpo'L	acinemod	¬Ãdrenev	¬Ãdelocrem	¬ÃdevoiG	?	Ãtivitta'l	onnaretelpmoc	inroig	itnauq	ni	,emeisni	onaroval	B	ehc	A	ais	eS
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elanidutitta	elanidutitta	anetac	Apitonde	Chain	Rule	Test	Paper	2	Apitonde	Chain	Rule	Test	Paper	3	Chain	Rule	Concepts	29)	True	Discount	and	Banker's	Discount	APTIONDE	1)	The	real	discount	on	an	RS	invoice.	2700	is	RS.	200.	RS.	210	RS.	212	RS.	216	RS.	218	Answer:	C	explanation:	face	value	=	RS.	2700	TD	=	RS.	200	pw	(current	value)	=	FV
(facial	value)	-	TD	(real	reduction)	=	2700?	If	we	increase	the	number	of	men	less	days	will	be	required	to	complete	the	work.	155.80	m	157.80	m	159.	Request	difference	=	50000	-	50	=	49950	Numbers	Aptitudo	Test	1	Numbers	APTUDE	TEST	2	NUMBERS	APPTUDE	TEST	3	NUMBERS	APTUNDE	TEST	4	NUMBER	APPTUDE	TEST	5	NUMBERS
APPTUDE	TEST	6	NUMBERS	APPTUDE	TEST	7	NURSITES	APTUNDE	concepts	3)	1)	What	is	the	interest	composed	on	RS.	2500	for	2	years	at	interest	rate	4%	per	year?	Answer:	C	explanation:	the	second	number	is	one	more	than	twice	the	first,	2	x	2	+1	=	5	The	third	number	is	one	less	than	double	the	second,	5	x	2	-1	=	9	The	fourth	number	is	one
More	than	the	double	of	the	third,	9	x	2	+1	=	19	The	fifth	number	is	one	less	than	double	the	fourth.	The	correct	answer	is	(B)	Response	with	the	explanation:	c.p.	=	RS.	2000	S.p.	=	RS.	2500	profit	or	gain	=	s.p.	-C.P.	=	2500	-	2000	=	500	Apply	the	formula:	Profit	%	=	profit	100	c.p.	=	500	ULA100	=	25	%	2000	Profit	and	Los	Apitonde	Test	1	Profit
and	Los	Apitonde	Test	2	Profit	and	Cross	minutes.
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